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Choose appropriate answer from the options in the questions.  
(100 × 1 = 100 marks) 

1. When opening stock is Rs.50.000, Closing stock Rs.60,000 and cost of goods 
sold Rs. 2,20,000. The stock turnover ratio is 

A. 2 Times     

B. 3 Times 

C. 4 Times    

D. 5 Times 
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2. Sales of a firm are Rs. 40 lacs, Variable costs Rs. 10 lacs, fixed cost  

Rs.15 lacs. Interest Rs.5 lacs Combined leverage of the firm will be 

A. 2.5     B. 3  

C. 2     D. 5 

3. If Activity ratio of a firm is 80% and capacity ratio is 120%. Find out its 

efficiency ratio 

A. 150%    B. 100%  

C. 80%     D. 66.67% 
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4. What does the Price earnings ratio indicates in financial analysis? 

A. The proportions of dividends to earnings 

B. The company's ability to repay long term debt 

C. The share price relative to earnings per share 

D. The operational efficiency of the company 

5. Which of the following is an index of the liquidity of a business? 

A. Current ratio    

B. Equity gearing ratio 

C. Debt service coverage ratio 

D. Ratio of equity to total outside liabilities 

6. Which country's education system has deep connections with India, dating 
back to the Rana regime? 

A. Bhutan     

B. Sri Lanka 

C. Nepal 

D. Bangladesh 

7. Which airline became the world's second-fastest-growing airline in seat 
capacity? 

A. Qatar Airways    

B. Emirates 

C. IndiGo   

D. Air India 

8. What is India's ranking in terms of user digital spending? 

A. 10th      B. 15th  

C. 20th      D. 28th  
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9. What was the total number of global Internet shutdowns witnessed in 2024? 

A. 296     B. 250 

C. 280     D. 300 

10. In which country was a 4,000-year-old Neolithic wooden circle, resembling 
Stonehenge, discovered? 

A. Denmark    B. Sweden 

C. Norway    D. Germany 

11. Reserve Bank staff college is situated at. 

A. Mumbai    B. New Delhi 

C. Kolkata    D. Chennai 

12. Who is the "Lender of the last resort" in India? 

A. SBI     B. RBI 

C. NABARD    D. SEBI 

13. Coins in India are minted by 

A. RBI      

B. State Bank of India 

C. Government of India  

D. None of the above 

14. Which technique used for printing "RBI" appearing on the face of the Indian 
currency notes is 

A. Intaglio Printing   

B. Micro lettering 

C. Latent Printing    

D. Screen Printing 
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15. Who is the only prime minister to have served as the Governor of RBI? 

A. P. V. Narasimha Rao  

B. Dr. Manmohan Singh 

C. Lal Bahadur Shastri  

D. Indira Gandhi 

16. Which country assumed the Chairmanship of the Bay of Bengal Programme 
Inter-Governmental Organisation (BOBP-IGO)? 

A. India      

B. Bangladesh 

C. Sri Lanka     

D. Maldives 

17. Which country is involved in strengthening media ties with India ahead of 
WAVES 2025? 

A. United States    

B. Saudi Arabia 

C. United Kingdom   

D. United Arab Emirates 

18. In which country is the Experimental Advanced Superconducting Tokamak 
(EAST) nuclear fusion reactor located? 

A. United States   B. Russia 

C. China    D. Japan 

19. Which country successfully launched the Belt and Road Initiative 
communications satellite? 

A. China     

B. Russia 

C. United States    

D. France 
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20. Which financial instrument provides a guarantee from a bank to pay the 
exporter once the specified conditions are met? 

A. Bank loan    

B. Letter of Credit (LC) 

C. Trade credit insurance  

D. Forfaiting 

21. What is the process of purchasing export receivables from an exporter without 
recourse to the exporter? 

A. Factoring     

B. Forfaiting 

C. Bank Guarantee   

D. Export Credit Insurance 

22. What is the term used for the risk associated with a change in government 
policies. regulations, or political stability that may impact international trade 
transactions? 

A. Credit risk    

B. Currency risk 

C. Country risk    

D. Compliance risk 

23. Which organization regulates and standardizes international trade practices, 
including trade finance instruments like letters of credit? 

A. World Trade Organization (WTO) 

B. International Monetary Fund (IMF) 

C. International Chamber of Commerce (ICC) 

D. United Nations Conference on Trade and Development (UNCTAD) 
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24. Which type of electric vehicle is powered by electricity generated by burning 
fossil fuels in a power plant? 
A. Battery Electric Vehicle (BEV) 
B. Plug-in Hybrid Electric Vehicle (PHEV) 
C. Hybrid Electric Vehicle (HEV) 
D. Fuel Cell Electric Vehicle (FCEV) 

25. What does V2G stand for in trade finance? 
A. Vendor-to-Government  
B. Vehicle-to-Grid 
C. Visa-to-Government  
D. Volume-to-Government 

26. The five permanent members of UN security council are ____________. 
A. Japan, West Germany, USSR, UK and USA 
B. Canada, China, France, USSR and USA 
C. Germany, China, USSR, UK and USA 
D. China, France, USSR, UK and USA 

27. Which of the following is the headquarters of World Trade Organisation 
(WTO)? 
A. New York    B. Geneva 
C. Madrid    D. Paris 

Question No 28 to 32, choose the word or phrase which is most nearly the 
same in meaning. 

28. Analogy: 
A. Analysis     
B. Dissimilar 
C. Comparison    
D. Existing pattern 
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29. Fanatic 

A. Critical     

B. Zealot 

C. Argumentative    

D. Apathy 

30. Loquacious 

A. Restricted    

B. Talkative 

C. Unknown    

D. Laconic 

31. Toxicant 

A. Harmless     

B. Poisonous 

C. Useless     

D. Fruitless 

32. Verbose 

A. Concise     

B. Bombastic 

C. Pithy     

D. Faithful 

33. Which of the following term is not associated with the World Trade 
Organisation (WTO)? 

A. UNCTAD     

B. GATT 

C. GATS     

D. SEWA 
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34. Regarding the IMF (International Monetary Fund) Which one of the following 
statements is correct? 

A. It can grant loans to any country. 

B. It can grant loans to only developed countries 

C. It grants loans to only member countries. 

D. It can grant loans to the central bank of a country 

35. Special economic Zones are set up in India in order to promote 

A. Import     

B. Export 

C. Domestic defence Industry  

D. None of the above 

36. Balance of payments includes 

A. Current account, capital account unilateral payment account, Official 
settlement account 

B. Revenue account, Profit and Loss account, capital account, Official 
account 

C. Forex account, Trade account, Funds account 

D. None of the above 

37. The balance of exports and imports of goods is referred to as 

A. Current account   

B. Current account balance 

C. Current account Deficit  

D. Balance of Trade 
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38. Floating Exchange Rates is determined by: 

A. Mutual consultations between countries 

B. Banking systems 

C. Market Forces 

D. None of the above 

39. Price of one currency is relation to other currencies in the international 

exchange market is known as:- 

A. Equilibrium rate   

B. fixed exchange rate 

C. exchange rate    

D. flexible exchange rate 

40. The exchange rate at which demand for foreign currency becomes equal to its 

supply, is called 

A. Equal rate of exchange  

B. Mint Parity 

C. Equilibrium exchange rate  

D. All of these 

41. Flexible Exchange Rate System is also known as: 

A. Pegged Exchange Rate System 

B. Dirty Floating 

C. Floating Exchange Rate 

D. Both (B) and (C) 
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42. What does JIT stand for in supply chain management? 

A. Just-in-Theory   

B. Jump into Technology 

C. Just-in-Time   

D. Join in Transition 

43. What does the term "lead time" refer to in supply chain management? 

A. The time taken to lead a meeting 

B. The time it takes to produce goods 

C. The time between placing an order and receiving it 

D. The time it takes to deliver goods to customers 

44. What does the term "BOM" stand for in supply chain management? 

A. Bill of Materials 

B. Business Operations Management 

C. Bulk Order Management 

D. Base of Manufacturing 

45. What is the International Maritime Organization (IMO) responsible for? 

A. Increasing political and economic cooperation among member countries 

B. Developing independent jurisdiction from national law 

C. Enforcing national maritime laws 

D. Setting standards for the safety and security of international shipping 

46. The convention defining state was concluded in 

A. 1932    B. 1993 

C. 1994    D. 1995 
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47. Under which article straight baseline define? 

A. 6     B. 7  

C. 8     D. 9 

48. Which of the following principles are still followed in modern law of sea? 

A. Liberum    B. Clausum 

C. Both     D. None of the above 

49. The International Court of Justice is located at ___________. 

A. Geneva    B. Hague 

C. Amsterdam   D. Vienna 

50. Which of the following international organisations has started the scheme 
'Partnership for Peace' for a group of nations? 

A. Organisation of Petroleum Exporting Countries (OPEC) 

B. Economic and Social Commission for Asia and Pacific (ESCAP) 

C. North Atlantic Treaty Organisation (NATO) 

D. Organisations of African Unity (OAU) 

51. When was the South Asian Association for Regional Co-operation (SAARC) 
formed? 

A. 1985    B. 1982 

C. 1986    D. 1987 

52. What is the length of UPI pin? 

A. 2 digits    B. 4-6 digits 

C. 2-4 digits    D. 10 digits 
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53. The range of the data 14, 6, 12, 17, 21, 10, 4, 3 is 

A. 6     B. 12 

C. 18     D. 17 

54. The mode of the data 21, 26, 22, 29, 23, 29, 26, 29, 22, 23 is 

A. 29     B. 22 

C. 23     D. 21 

55. Find the median of the data: 13, 111, 17, 12, 15, 19, 19, 12, 110, 115, 17 

A. 12     B. 15 

C. 17     D. 19 

56. If in a certain language, MADRAS is coded as NBESBT, how is BOMBAY 
coded in that code? 

A. CPNCBX    B. CPNCBZ 

C. CPOCBZ    D. CQOCBZ 

57. In a certain code, TRIPPLE is written as SQHOOKD. How is DISPOSE written 
in that code? 

A. CHRONRD   B. DSOESPI 

C. ESJTPTF    D. ESOPSID 

58. Look at this series: 22, 21, 23, 22, 24, 23______ What number should come 
next? 

A. 22     B. 24 

C. 25     D. 26 

59. In a certain code "SAND" is written as "UCPF". How is "STONE" is written in 
that code? 

A. SRLFE    B. UNSOP 

C. UVQPG    D. UDLPQ 
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60. In a certain code "LION" is written as "MNΗΚ". How is "MONKEY" is written in 
that code? 

A. BWKXSU    B. XDJMNL 

C. FSHXIL    D. GQWPJS 

61. Pointing to a photograph of a boy Suresh said, "He is the son of the only son 
of my mother." How is Suresh related to that boy? 

A. Brother    B. Uncle 

C. Cousin    D. Father 

62. If A is the brother of B; B is the sister of C; and C is the father of D, how D is 
related to A? 

A. Brother    B. Sister 

C. Nephew    D. Cannot be determined 

63. Introducing a boy, a girl said, "He is the son of the daughter of the father of my 
uncle." How is the boy related to the girl? 

A. Brother    B. Nephew 

C. Uncle    D. Son-in-law 

64. Statements: Some actors are singers. All the singers are dancers 

Conclusions: 

 1.  Some actors are dancers. 

 2. No singer is actor. 

A. Only (1) conclusion follows 

B. Only (2) conclusion follows 

C. Either (1) or (2) follows 

D. Neither (1) nor (2) follows 
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65. Statements: All the harmoniums are instruments. All the instruments are flutes. 

Conclusions: 

 1. All the flutes are instruments. 

 2. All the harmoniums are flutes. 

A. Only (1) conclusion follows 

B. Only (2) conclusion follows 

C. Either (1) or (2) follows 

D. Neither (1) nor (2) follows 

66. Statements: Some ants are parrots. All the parrots are apples. 

Conclusions: 

 1. All the apples are parrots. 

 2  Some ants are apples. 

A. Only (1) conclusion follows 

B. Only (2) conclusion follows 

C. Either (1) or (2) follows 

D. Neither (1) nor (2) follows 

From Question No. 67 to 71. Study the following table and answer the 
questions based on it. 

Expenditures of a Company (In Lakh Rupees) per Annum Over the given 
Years 

Item of Expenditure 
Year 

Salary Fuel and Transport Bonus Interest on loans Taxes 

1998 288 98 3.00 23.4 83 

1999 342 112 2.52 32.5 108 

2000 324 101 3.84 41.6 74 

2001 336 133 2.68 36.4 88 

2002 420 142 3.96 49.4 98 
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67. What is the average amount of interest per year which the company had to 
pay during this period? 

A. Rs. 32.43 lakhs  B. Rs. 33.72 lakhs 

C. Rs. 34.18 lakhs  D. Rs. 36.66 lakhs 

68. The total amount of bonus paid by the company during the given period is 
approximately what percent of the total amount of salary paid during this 
period? 

A. 0.1%    B. 0.5%  

C. 1%     D. 1.25% 

69. Total expenditure on all these items in 1998 was approximately what percent 
of the total expenditure in 2002? 

A. 62%     B. 66% 

C. 69%     D. 71% 

70. The total expenditure of the company over these items during the year 2000 
is? 

A. Rs. 544.44 lakhs  B. Rs. 501.11 lakhs 

C. Rs. 446.46 lakhs  D. Rs. 478.87 lakhs 

71. The ratio between the total expenditure on Taxes for all the years and the total 
expenditure on Fuel and Transport for all the years respectively is 
approximately? 

A. 4:7     B. 10:13 

C. 15:18    D. 5:8 

72. Choose appropriate articles for the given sentence: 

Learn ____________ new skill every six months to take out ___________ 
boredom of repetitive work. 

A. a, the    B. the, a 

C. an, the    D. a, a 
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73. The following sentence has been split into four segments. Identify the segment 
that contains a grammatical error. 
She is studying/the medicine/at university/ to become a doctor 
A. to become a doctor  B. she is studying 
C. the medicine   D. at university 

74. Select the most appropriate articles to fill in the blanks. 
I was in ___________ state of unconsciousness for about ___________ hour. 
A. the, a    B. a, No articles 
C. a, an    D. No articles; an 

From question No.75 to 79. Fill in the blanks with a suitable preposition in the 
given sentence. 

75. If you want to work __________ us, you should adhere ________ our policies. 
A. of, to    B. for, from 
C. with, to    D. None of the above 

76. Eggs are sold ____________ the dozen. 
A. at     B. to  
C. by     D. in 

77. ___________ Alps are the highest mountain in Europe. 
A. a     B. An  
C. The     D. None of the above 

78. For me, break fast is _______________ best meal of the day. 
A. A     B. An 
C. The     D. None of these 

79.  A lot of ships cross ___________ pacific ocean. 
A. A     B. the 
C. An     D. None of these 
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Question No 80 to 84, choose the word or phrase which is most opposite word. 

80. "Delay" 
A. Help     B. Increase 
C. Expedite    D. Simplify 

81. "Complicate" 
A. Help     B. Increase 
C. Expedite    D. Simplify 

82. "Neglect" 
A. Execute    B. Hinder 
C. Attend    D. Encourage 

83. "Conceal" 
A. Execute    B. Hinder 
C. Reveal    D. Encourage 

84.  "Stagnate" 
A. Execute    B. Hinder 
C. Attend    D. Progress 

85. Which team wins 33rd Santosh Trophy title? 
A. Meghalaya   B. Punjab 
C. Kerala    D. West Bengal 

86. National Bird day is observed on 
A. 3rd January   B. 4th January 
C. 5th January   D. 6th January 

87. Which organisation developed “Bharat Pól” Portal? 
A. Intelligence Bureau 
B. Central Bureau of Investigation 
C. National Investigation Agency 
D. Enforcement directorate 
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88. International customs day celebrated on 

A. 25th January   B. 26th  January 

C. 27th January   D. 26th February 

89. Which country's president is invited as the chief guest for this year's republic 
day? 

A. Laos     B. Thailand 

C. Malaysia    D. Indonesia 

90. Donald Trump was sworn in as the _________ president of the United States 
on January 20, 2025. 

A. 46th      B. 47th   

C. 48th      D. 49th  

91.  Which state host the 38th National Games in 2025? 

A. Assam    B. Rajasthan 

C. Karnataka   D. Uttarakhand 

92. The Al startup company Deep Seek is based in 

A. Brazil    B. USA 

C. China    D. Japan 

93.  Where is India's is largest solar power project launched in 2025? 

A. Rajasthan   B. Madhya Pradesh 

C. Gujarat    D. Uttar Pradesh 

94. Where is the largest natural reserve in India Located? 

A. Arunachal Pradesh  B. Assam 

C. Uttar Pradesh   D. Uttar Khand 
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95. Which Indian player received the Padmashri award in 2025? 

A. Priyanka Chopra  B. Manika Batra 

C. Neeraj Chopra   D. Mirabai Chanu 

96. In which state is the largest beach in India located? 

A. Goa     B. Kerala 

C. Tamil Nadu   D. Maharashtra 

97. In Systematic Sampling, how is the sample selected? 

A. Every k-th person is selected after a random starting point. 

B. Every individual has an equal chance of being selected. 

C. The researcher selects based on convenience. 

D. The sample is divided into groups and random samples are selected from 
each 

98. In Snowball Sampling the researcher: 

A. Selects a random group of individuals and surveys them. 

B. Chooses individuals based on a specific characteristic, such as age. 

C. Starts with a small group of people and asks them to refer others. 

D. Divides the population into clusters and surveys everyone within a 
selected cluster. 

99. When is National Science day celebrated in India? 

A. February 28   B. 14th January 

C. 15th August   D. January 28 

100. The minor planets revolving between the orbits of Jupiter and Mars are called 

A. Novas    B. Comets 

C. Meteors    D. Asteroids 

____________ 
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